SUBREV: F

SHEET 1 OF 1

P/N: CW33658-101

DATE: 02.25.10

DRAWN BY: MC




SUPERBENCH_EXPERIENCE_TITANIUM_BAS89
1 PPPO000AP041656721 WELDMENT,BACK PAD PLATE,WRINKLE BLA
2.031 (PPPO00OAPR201686MI9 ASSEMBLY ,MAIN FRAME,EXPERIENCE TITA
3.031 PPP0O000AP041568119 WELDMENT, CROSS TUBING, EXPERIENCE
4 2 PPPO000AP041657721 WELDMENT,SEAT PAD ADJUSTABLE PLATE,
5 4 PPPO000AP050253101 SHAFT END CAP, AB100B
6 4 PPPO000AP050262101 BEARING,PILLOW BLOCK,2-BOLT
8 2 (PPPO000AP060272101 BUMPER, RUBBER, 1-1/4 SQ
10 1 (PPPOOOOMROGONS2MGD GRIP, HANDRAIL
11 2 PPPO0OOOGWS39164109 BADGE, ICARIAN LINE, SMALL
12 2 PPPOO00AP110096752 POP PIN,LONG,ADJSTBLE,BLUE ANODIZED
13 2 PPPO000AP110203752 POP PIN,SHORT,ADJUSTABLE,BLUE ANODI
14 8 PPPOOO0OOEAJN025019 SCREW,SET,1/4-20X.19 in., E-COAT
15 2  PPP00000KDJN031027 LOCKNUT, FULL, 5/16-18,BLK E-COAT
16.01 1 PPP0O00CWPD1307B101 PAD,10X36,4HLS,NTCHD END,W/BP,BLACK
1701 1 PPP000CWPD1308B101 PAD,6X10X14.5,3HLS,2SLOT,W/BP,BLACK
18 2 (PPPO0O0OOOTAUNOSIZS SCREW,BTHD,5/16-18X1-3/4, E-COAT
19 7 PPPO0000TAJNO031125 SCREW,BTHD,5/16-18X1-1/4, E-COAT
20 12 (PPPOOOOOTAUNDS807S SCREW, BTHD, 3/8-16 X 3/4, E-COAT
22 14 PPPO000OWBWJINO008002 WASHER, 8MM SPLIT LOCK, E-COAT
23 24 PPPO000WBWJN010002 WASHER, 10MM SPLIT LOCK, E-COAT
24 4 PPPO0OO00OWKJNO008002 WASHER, METRIC, PLAIN, 8MM, E-COAT
25 7 PPPOO0OOOWKJNO008002 WASHER, METRIC, PLAIN, 8MM, E-COAT
26 8 PPPO00O00WKJN010002 WASHER, FLAT, 10MM X 25MM X 2.0MM,
27 2 PPPOO00AP060769101 ORANGE WHEEL
29 2 (PPPO0OOOAROS50906202 STOP PIN (SCREW)

30 2 PPPOO00OAP060969101 SLEEVE

SUPERBENCH_EXPERIENCE_TITANIUM_BAS89.txt[5/28/2021 11:06:35 AM]


https://www.gympart.com/itemdesc.aspx?ic=PSP1703&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PSP1702&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PSP1705&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PSP1445&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PSP1706&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PSP1821&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PR17718&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PR11768&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PSP1441&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PSP1119&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PSP1441&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PSP1561&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PR12018&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PSP1705&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PR10432&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PSP1445&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PSP1034&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PR11768&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PSP1561&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=PR12018&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams

35 4 PPPO0O0O00ABCNO025001 RETAINING RING, EXTERNAL, 25MM, ZN

200 1 PPP0O0000CW33661102 KIT, HARDWARE,CW119

SUPERBENCH_EXPERIENCE_TITANIUM_BAS89.txt[5/28/2021 11:06:35 AM]



	Superbench_TITANIUM_BA89
	Sheet1
	Drawing View1


	SUPERBENCH_EXPERIENCE_TITANIUM_BA89 2
	Local Disk
	SUPERBENCH_EXPERIENCE_TITANIUM_BA89.txt



